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BACCALAURÉAT - SESSION 2013 - DNL SES - ANGLAIS
---------------------------------------------------------------------------------------------------------------------------

Thème : Quels sont les fondements du commerce international et de l’internationalisation de la production ?

SUBJECT: Developing countries and free trade
A fast-integrating world
Developing countries – particularly China and the other BRIICs – have become major actors in the world market, both as exporters and importers. And the continued rapid fall in cost of communication and transportation have not only powered the integration of goods and services markets, but also facilitate an accelerated pace of technological dissemination. Integral to these changes have been innovations in business organisation that have spawned new trends in trade. The development of “trade in tasks” – global value chains, segmentation of production through offshoring, and global out-sourcing – are fast-integrating distant economies into the global market, often through the intra-firm trade of multinational companies. (…)
These changes have effectively integrated not only markets for products, services, finance and technology, but also directly or indirectly markets for labour. Workers in OECD countries now voice worries about job opportunities lost to offshoring and services outsourcing as well as increased vulnerability associated with job and income volatility. At the same time, workers in many developing countries worry about adverse consequences of trade liberalisation, lagging employment opportunities for burgeoning labour forces, and competition from China. 
Source :
Richard Newfarmer and Monika Sztajerowska, OECD,  « Policy Priorities for International Trade and Jobs » chapter 1, p4 : « Trade and employment in a fast-changing world ». Availaible at : http://www.oecd.org/site/tadicite/policyprioritiesforinternationaltradeandjobs.htm 
Wordbox : to spawn = lead to ; The « value chain » describes the full range of activities that firms and workers do to bring a product from its conception to its end use and beyond ; to lag = to slow down
1. How does the text explain the development of China and other BRIICs ?
2. Explain the underlined sentence, giving an example.
3. What are the consequences of the free trade  for workers ?
4. To what extent are developing countries threatening developed countries ?
RAPPEL

20 minutes de préparation; oral : 10 minutes sur le document et 10 minutes d’entretien
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